Orden de Operaciones (G)

Realice las operaciones en el orden correcto.

. 88,67 +73,27—(52,37+40,02) — 8,11 —2,95

—_—

N

- (96,63 — 65,67+ 1,99) x (78,35 — (47,08 +21,07))

W

- (16,38491,62 — 35,65 — (57,7+0,45)) x 49, 1

4.21,75 % 25,64 — 41,12 — (36,21 + 98,54 +5,12)

N

46,2 % (89,67 —8,97) 455,68+ 19,98 — 69,24
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Orden de Operaciones (G) Answers

Realice las operaciones en el orden correcto.

. 88,67+73,27 — (52,37+0,02) — 8,11 —2,95
— 98,49

—_—

\®]

- (96,63 — 65,67+ 1,99) x (78,35 — (47,08 +21,07))
— 336,09

(98]

. (16,38 491,62 — 35,65 — (57,7 +0,45)) x 49, 1
= 697,22

4.21,75 x 25,64 — 41,12 — (36,21 + 98,54 +5,12)
— 376,68

W

46,2 % (89,67 —8,97) 455,68+ 19,98 — 69,24
=3.734,76
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